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CBT Sample assessment model answers

Bookkeeping controls (BKCL)

Sample assessment 1

Task 1 (12 marks)
[image: image2.png](a) Match each situation with the most appropriate payment method below. Click on a box in the left

column then on one in the right column to indicate each answer. To remove a line, click on it (4 marks
situation Payment method
Wiaking  paymentwia the intemet o purchase office Standing order
stationery
Cheque

[Making a non-automated low value paymentin person

Bank araft
Wiaking  payment by postio a credit supplier Debitcara
CHAPS
Wiaking regular payments of regular amounts to the
same recipient
Cash

(b) Show which TWO of the payment methods below will ot reduce funds in the payer's bank balance
on the date of payment by clicking on the relevant payment methods. To remove a selection, clickon (2 marks)
it

Payment method

Creditcard  Standing order Cheque  Directdebit CHAPS






Task 1, continued

[image: image3.png](c) Show whether the errors below will cause an imbalance in the trial balance by placing the
appropriate answer against each error. You may use each answer more than once.

Error Effect on trial balance

A cash sale has been recorded in the sales and VAT control
accounts only.

Wil cause an imbalance

(4 marks

‘The purchase of a new computer has been recordsd in the office
expenses account Al other entries were correct

Will not cause an imbalance

ABACS paymentto a credit supplier was debited to the bank account
and credited to the purchases ledger control account.

Will not cause an imbalance

A cash payment of £56 for stationery has been recorded in the cash
account as £65. All other entries were correct.

Wil cause an imbalance

Answers: Wil cause an imbalance Will ot cause an imbalance

(d) Show which ONE of the errors below is an error of principle.

A cash sale has been recorded in the sales and VAT control
accounts only.

‘The purchase of a new computer has been recordsd in the office
expenses account Al other entries were correct

ABACS paymentto a credit supplier was debited to the bank account
and credited to the purchases ledger control account.

A cash payment of £56 for stationery has been recorded in the cash
account as £65. All other entries were correct.

(1 mark)





Task 1, continued

[image: image4.png]‘The correction of errors in a bookkeeping system is recorded in the journal

() Select one other transaction that s recorded in the journal, (1 mark)

irecoverable debts wiitien o

End of task.




Task 2 (12 marks)
[image: image5.png]‘Show the journal entries needed to record:
- the netwages paid to employees

- the HM Revenue and Customs liabiity
- the trade union lability.

Do not enter a zero in unused debit or credit column cells.

Journal to record the net wages paid to employees

Account name

[#ages control v 52026

[Bank. v 52025

[#ages control v 17004]

[Fi1 Revenue ana Customs |4 7004|

[#ages control v 630

[Trade union v 630

End of task.

(12 marks)




Task 3 (10 marks)
[image: image6.png](a) Record the journal entries needed in the general ledger to write off the net amount and the VAT.
Do not enter a zero in unused debit or credit column cells. (& marks)

Journal

Account name

recoveradle deots v 1460
[VAT control v 252
[Sales 1eager control 5 752)

Anew business has been started and a new set of accounts s to be opened.
A partally completed journal o record the opening entries is shown below.

(b) Complete the journal by placing each amount i either the debit or credit column. (4 marks)
Journal

Account name

Cash at bank

Capital

Computer equipment

Loan from bank 3,000

End of task.





Task 4 (10 marks)
[image: image7.png](a) Show whether each transaction will be a debit or a credit entry in the VAT control account. (8 marks)

Transactions Amount Credit
VAT awing from HM Revenu and Customs at 1 June 205
VAT totaln the sales daybook 5820
VAT tofal in the sales returns daybook 409
VAT totalinthe purchases daybook 4218
VAT total in the discounts allowed daybook 182
VAT tofal in the discounts received daybook 208
VAT totalin the cash book for cash sales 804
VAT refund received flom Hil Revenue and Customs 205





[image: image8.png](b) What will be the balance brought down on the VAT control account after the transactions above have
been recorded? (2marks)

End of task.





Task 5 (14 marks)
[image: image9.png](a) Whatis the total of the balances in the sales ledger on 1 July? (1 mark

44563

The balance of the sales ledger control account on 1 Julyis £43,108

(b) Whatis the difference between the balance of the sales ledger control account and the total of the.
balances in the sales ledger you calculated in (a)? (1 mark)

1455

(€) Which TWO of the reasons below could explain the difference you calculated in (b)? (2 marks

Reasons

Goods returned were entered twice in a customer's accountin the sales ledger.

Discounts allowed were not entered in the sales ledger control account.

Goods sold wers entered twice in a customers account inthe sales ledger.

Goods returned were not entered in the sales ledger control account.

Irecoverable debts wiitten off were entered twice in the sales ledger control account.

A cheque received was entered twice in a customers accountin the sales ledger.





Task 5, continued 
[image: image10.png](d) Record these transactions in the purchases ledger control account and show the balance carried
down. (10 marks)

Purchases ledger control

[Bank. ] 2s512[patance oia ~ BESd
[Purchases retums [ 4037 [Purchases ~ BESE
[Balance oo ~ B v

71298 71298]

End of task.




Task 6 (10 marks)
[image: image11.png]Balance bff
Ballo plc.
Heidi Chin

Bankinterest

Date  Cheque
20X number

011382
011383
011384
011385
011388
011387

IPQ Partners

Cully and Ball
Gaye Green
KBC Ltg

Farr Traders
Robson Ltd
Lingy Lee

622]
1627]
2240
52|
289|
3500

9510

AlAlATATATAJATATATATATA

1128

End of Task




Task 7 (14 marks)
[image: image12.png](a) Identify the FOUR transactions that are included in the cash book but missing from the bank.
statement and complete the bank reconciliation statement as at 31 July.

Do notentr iures with minus signs or brackets ntistask. (12 mares
Bank reconciliation statement Cash book
Date Sank | ate | choaus Bank

Batance as perbank statement 2289 Date | pagais | Bk | Date |Cheae | o | B

BJ 1o [saanceon sefa [oreer |Aanaa s0d]
ison La 524

Blrou [seem s F I e e [aIK|
s Ja7 =

[ I 241000 [o14419 |otle wong 2ad)
Totalto aad e

BJ 7o [Tortasms | sees|redu [oreaz [t 74

Blza [rem e Tago 1o [014ez1 [Bronic K|
Caren Lo ™

V2500 [Jsemineda | 4so| 16 |oreazz [pesia ERK
Fealo S

b 21 |0z |Giorey E=r
Total o subtract oa0
Batance as per cash book 2129

(b) Refer to the cash book in (a) and check that the bank statement has been correctly reconciled by
calculating;
 the balance carried down
 the total of each of the bank columns after the balance carried down has been recorded. (2 marks

Balance carrieddown  Bank column totals.

End of task.




Task 8 (14 marks)
[image: image13.png](a) Record the journal entries needed to:
- remove the incorrect entry
- record the correct entry
- remove the suspense account balance.

Do not enter a zero in unused debit or credit column cells. (6 marks)

Journal to remove the incorrect entry.

Account name

[suspense





Task 8, continued
[image: image14.png](b) Record the journal entries needed to:
- remove the incorrect entries.
- record the correct entries

Do not enter a zero in unused debit or credit column cells. (8 marks)

Journal to remove the incorrect entries

Account name

[Drawings v 425

[Cash v 25|

[Drawings v 425

[Cash v 25|

End of task.




Task 9 (10 marks)
[image: image15.png]Record the journal entries in the general ledger accounts below and show the balance carried down
in the office furniture account. (10 marks)

Office furniture

[Balance off 8363[suspense ~
[Bank. 11[Balance cia ~ S
[suspense 476 v

10450 10450
Suspense

Office turniture [ 1764 Balance bia 288
v [office furmiture: 478
764] 764|

End of task.





Task 10 (14 marks)
[image: image16.png](a) Whatentry is needed in the suspense account to balance the trial balance?
Do not enter a zero in the unused column cell. (1 mark)

Account names

Suspense





[image: image17.png](b) Complete the table below to show:

the balance of each account after the journal entries have been recorded
+ whether each balance will be a debit or credit entry in the trial balance. (8 marks)

List of balances

Account name = 5=
tralbalance i blance

Offce expenses +.087] 204

Bani (overarat) +.079 1558

Fiures and ftings 123%4| 13003

Rentreceived a0z sz





Task 10, continued

[image: image18.png](c) Complete the table below to show whether each balance will be a debit or credit entry in the trial

balance. (3 marks)
Account name Salance

VAT control (owing to HI Revenus and Customs) 12,083

Sales retums 4671

Drawings 5515|

(d) What will be the totals of each colum of the trial balance after the balances in (c) have been
entered? (2marks)

End of task.
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